Sf 5 A E R T HFH B HE
2K K 13
THEAKOLME| MBEEEREELE (R5—-1) 7
T %= % REEUIT KA HipN
SR T
& kh K L 110.5m
F&2 At @ 1
F& 2 FH B REME 12
LS E H A T 9.4m
TR LE T 23
BEK R AIE L S{EFT
&2 Ai1E T
MTE M T (8 T 0. 34601
T H # = FKHERT 1000t
AR OEE T 1K
+- bR - EET 12
BUSRET.
WAL T 320. 5m
s an
B IS e L 12
BRBE T IR AR A T 1K
Bt T 12
A SNSRI~ e 54 AKL
o o P A MLEMIC RS &, EAR—KOERAX 555 BEEFROBTNES 1
- 1E&FET 5,
Bl AL $ 17 H| ©Ffn 54 6H 23H 10 00 %y
B AL 5P| REEUETRY; JbEE S KEEE=
i = i 40, 760, 000 [Fi4k : M1 44, 836, 000 [FiiA - H]
b w1/ 55 Y 3 32,384, 000 [®itk : H] 35, 622, 400 [#iA : H]
BRIa%E (4 ) 32,384, 000 [®itk : H] 35, 622, 400 [#iA - H]
[Bitk : 1] [Bisk : 1)
R (£ F) (Bt - 1] B - {1
KT SR P R RE BT - (1) R 92075
L2 I X - .
SR ey
T o (49)) S b4 6H 26H 9~  4f 54 11H 28H
~ o H A H
T (% I
MR ~ &fm % A H
A FL e = 4 AFLakE (Bidk - M) i =
1 |RRatt JTLETHE 32,384, 000| %L (K Urlx)
2 |EEYeate MRSt 32, 384, 000
3 Bt Bfiao Ao 3 v 32, 384, 000
4 B EHEMA 32, 384, 000
5 |fEfnH &R MRSt 32, 384, 000
6 |t HAk 32, 384, 000
7 KRSt WEM 32, 384, 000
8 |4t i TS 32, 384, 000
9 |PRiEAE HASH 32, 384, 000
10 [ HRalath 32, 384, 000
11 et v— R 32, 384, 000
s | (EwEEHE)
=




SF b AE A ER TS B E
LKW K 14
THE4A K OLHE| AEXTFKEARFLE (R5—3) T AR—3K
T %= % REERET AR =T H HiN
W T i & 1=138. 70m
BT (BAHD VU ¢ 200 134. 59m
~ A= T 1 BN A AL 3fE T
0 =3 AL 215 AT
BufHE ESch f‘j iuﬁ‘% Z%FE
T TEROETT MR 13f& 7
B R f+ H T 1K
HigEARBE IR T As t=5cm/F&M Nt 1.659. 6t
As t=5cm/ A J7fi T. 10. 0mi
B oo 5k a4 54 AKL
1&F L9 5,
Bl AL ¥ 17 H| &Ff 54 6H 23H 10F 40 4y
B AL P REEUATEYG LR SBE KEERE
T E A 25, 257,000 [Fitk : H] 27,782, 700 [®ia : H]
I K il BB Al kS 20, 189, 000 [®itk : M] 22,207,900 [®iA:H]
BRIe%E (4 1)) 20, 189, 000 [®itk : M] 22,207,900 [®iaA:H]
[Bitk : M) [BiA - 1)
M LHE (
Rive@ (X F) UBitk - 1] (B - 1]
. KT SRFARFREEIT HIEHE1T BH6%225
ECI
R E A s v
T (%4 ¥9)) Sf 54 6H 26H 9~  4of 64 1H 31H
~ o s A H
T o (% T
A (RR) ~ & FE A §
A AL ¥ = 4 A&k (Bidk - M) il 5
1 ket v—n K 20, 189, 000| %+l (K UrlIx)
2 |EEYeEER RSt 20, 189, 000
3 kSt BEfniar Ao v a v 20, 189, 000
4 MRS m 20, 189, 000
5 |0 HAEGEY RSt 20, 189, 000
6 |[MRESt  HAR 20, 189, 000
7 BRAStE TEEM 20, 189, 000
8 KRSt Pepd TS 20, 189, 000
9 |fREHER BASH 20, 189, 000
10 [JEHEEE MRtk 20, 189, 000
11 [BRUEtt JTETE AT L ML)
fig | (ZEEELHL)
=




SF0 5 AERE AR T KRR E
28 &k 5 15
THEL AL REZelxixE L F (R5—2) Sy

T % &% REHUMT ALR—T H  HipNfil
QL%@%&&%I
FRMrE SR AT R N= 20
1H R s s 1
Ry B U N= 254
T F #% =
K o Kk BRABSARL
oo T fgﬁﬁﬁrixﬂgﬂngﬁé IR B R FR OB HITINEE 2 47 L
Bl AL # 1T H| ©Ff 5% 6H 23H 11H 204y
B AL 3 Pt RERHUETIRY;  JREE S BE Rk
T OE Al A 4,073,000 [®itk:H] 4,480, 300 [®BiA : H]
e K BB AT AS 3, 134, 000 [Bitk : M) 3,447,400 [BiA : 1]
e (4 ) 3, 134, 000 [Bitk : F) 3, 447, 400 [Biir : [A]
, e [Bitk - M) [BiA - M)
Rie@ (T [Bitk - M) [BiA - M)
o KRBT IR B ARRE BT /v Ak 1-11-17
AR A pay cyan
T (4 9) SF 5% 6H 260 9~  AF 54 10H 31H
~ o G A H
T (£ ) < & . E q
A L e * Za ALes Bitk : 1) fii i
1 |ARStE b AR 3,134,000 ¥%#L (K LBlx)
2 | ARt MNAKER R T3 3, 134, 000
3 Bk HEIE 3, 134, 000
4 | A MUK 3, 134, 000
5 |Arm— REER 3, 134, 000
6 A=t HU X 3, 134, 000
T RSt v 2 3, 134, 000
8 |[Fkett v va—RLr—v g 3, 134, 000
9 |KiEZese #Rar 3, 134, 000
10 |tk Bfia A ho727va v 3, 134, 000
11 RSt WP EGHE 3, 134, 000
12 |BR&4t TSUJIYOSHI =2 —RL—3 3 > 3, 134, 000
13 |fERF L 3, 134, 000
14 |f8F0 B stk 3, 134, 000
15 | fi FH % 3, 134, 000
16 |[FRtl PHIE 3, 134, 000
17 |IEEERE AR 3, 134, 000




SR G < S G S O

28 & & 15
THEAKOPLHE| RBELEHEHELSE (R5—2) A I L2 A fii i
T % % fr REEHT AfR— T H fﬂlj\?ﬂﬁ
AL SRR P
R 2 1 B M D T R % N= 2}
T8 S b s fE
HHR Gy BIERE B N= 254
T #H # =
2K o K ik FE4 B AKL
oo T BB ALERIC IS X | RBLEMMX IO H HITNEF 2 47 &

ERAE

P tL ¥ 1T R

ASFf1 54 6 H 23H 11H 204y

B L B A

RRINETBYS AR 3 Rig=

¥ E M A& 4,073,000 [Bibk: m] 4, 480, 300 [®iA : M]
B A& )RR A A% 3, 134, 000 [Bitk : M) 3,447,400 [BiA : 1]
BHRI&HE (4 ) 3, 134, 000 [Bisk : M) 3, 447, 400 [BiiA : M)
[Bitk : M) [BiA - 1)
£ /(\/\ E R
Rive® (X H) UBidk - 1] (Bos - 1]
. KT IR A AR RE BT /s db1-11-17
7%
RO R H HIRSH ©
T B (H4¥9) SF 54 6H 26H 9~  4&F 54 108 31H
~ & s A H
T (% I
A (RR) ~ & s A H
A L E S = 4 ANFLA%E (Bidk : M) 1 B
18 |BE st £ 5 X Lkt 3, 134, 000
19 Bkt S fpEsg 3, 134, 000
20 [ttt v—r 4, 000, 000
21 |BIRH h B Fe4 REIR
22 |74 %At Fe4 REIR
23 [fREER HRAsSH Fe4 REIR
24 KRt HAmER Fe4 REIR
| (EERm )
=




SF b AE A ER TS B E
noK %k = 16
T HF 4 K O T M| RERETREGASEEH 0 S%E T F AR
T %= % REENATEFH—T H #iN
E- T = A c 1.0
TR CF Lok
MG 15 : 102
O T : 1.0
T %= ff =
K o ik Fa4 Wi AFL
. o A A NFLEMIC RS & | B — DS RIX 55 23 D S/ 2Bk D & % BT
RHEBEERB | s o) R CRE LIITAES | & LT 5.
Bl AL ¥ 17 H| 4&Ff 54 6H 23H 13 154y
B AL 5 PFr| REEUT&RYE ALEESBE KESE=
T OB MK 3,717,000 Bk : m] 4,088, 700 [BiA : 1]
B A& )RR A A% 3, 068, 000 [Bitk : M) 3,374,800 [BiA : 1]
LRIERE (4 #) 3, 068, 000 [Bi# : M) 3, 374, 800 [BiiA : M)
[Bitk : M) [BiiA - []
ED /(\/\ B (2
Rive® (X H) (Bt - 1] (B - 1]
. KOFF R RFREEAT > IX & 28 k2 T H11-5
7%
R M R A Bk adh R R
T B (H49) Sf 54 6H 26H ~  4af 54 104 31H
~ o e A H
i REl
T Hi () N AT e I A
A L % = v MNLEFE Btk : 1) T B
1 |BkRStt TR THIE 3,068, 000| AL (< LAlx)
2 |BREtE HU R 3, 068, 000
3 bR A&t 3, 068, 000
4 | KHEBE 3, 068, 000
5

Hatt RINE

5

i | (e )




SF b AE AR TS BRI E
28 & & 17
THE4 &K O THE| BERERERRERETLE (R5—-1) gL —

T %= % REEUAT KA —T H  HipNfl
o
BT AR S N=2 #
TR AR N= 4 K
FRBRERE T
HEREERAR BB AT BB N= 10 K
TOF O E | HEmC §
R i HEy s AR HSURS: T N=1 %
B T P s AR AR T N=3 %t
N FERET N=1 f&dT
B oo 5k a4 54 AKL
. s A B LR S & | B OEHR X730 D R Bk D & H T
RHEBEERB | s o) R CRE LIITAES | & LT 5.
Bl AL ¥ 17 H| 4&Ff 54 6H 23H 131KF 504y
B AL P REEUATEYS LR SBE O KREEEE
T E A 2,710, 000 [Fitk : H] 2,981, 000 [®iA - H]
5 a5 o | S S T 28 2,085, 000 [Bitk : M) 2,293,500 [BiA : M)
R4 (4 ) 2, 085, 000 [®itk : M] 2,293, 500 [®ia: H]
[Bitk : M) [BiiA - []
ED f\{} B (2
Rive® (X H) (Bt - 1] (B - 1]
. KT SR P R RE BT KA LR V8 T84T 5
£ NS
R E Ay am ke
T B (H49) Sf 54 6H 26H ~  4af 54 9H 15H
~ o e A H
T o (% T
A (RR) ~ & F A H
A AL == = 4 AFL&KE (Bidk - M) il C:
1| BEEER BRSNSttt 2,085, 000| %L (K UrlIx)
2 R Et HU R 2,085, 000
3| KASTBH 3 2, 085, 000
4 | BREH b= AT U TR 2, 085, 000
5 KRSt WHE L AN L OMLBINEIR)

(22 o P %)




